2 SLO prelB2 HL Short Test 7 November 28, 2022

Name:
Group 2
Result:

1. (7 points)
Solve the following equations:

a) cos? 6 4 cos ) = sin? §, where 0 < 0 < 2,

b) tan?30 = %, where 0 < 0 < 7,

1
3

c) 3esc? 20 + Hesc20 = 2, where 0 < 6 < 27.

2. (2 points)
Calculate:
cos (%”) - tan (I?T”) _

o (1n _ 13x
sin (127 - cos ( — 127)
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3. (3 points)
Given that m < a < 27 and tan o = 2 find the values of all 5 of the remaining trigonometric
functions.

4. (4 points)
Prove the following trigonometric identities:

a)
sin a + cot « 9
—— =seca + csct
sin « cos o

sin 3 n sing 2
1+cos3 1—cosB sinf




